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Find '(x) of f(x) = (2x + 3)3
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R.
Find g'(x) if g(X) =42x + 5
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B.
Find the derivative of
G(x) = cos?3x
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Is the graph of h(x) = f(g(x)) increasing,
decreasing, or at a relatlve maximum
or minimum whetry '
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Find h'(x) if
h(x) =/x? - 3x + 1

C.
If f(x) ={25 - x2 . find the
(equation of the normal life to

the graph of f(x) when x = 3.
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Find the limit: Find g'(ir) when
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Find f'(x) when
f(x) = x11 - x?

D.
If f(x) = tandx, what is f'(x)?
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M. T. |
Find the derivative of If f(8) = sec58, find f'(8).
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If P(x) =m(2f(x)+ g(&x))z"ﬂm | If q(x) =ff(x) + g(x) , what is
what is the value of P'(0)? the value of g (4)”
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